
FAUSTFORMELN 
 
 
 

Anhalteweg         =        Reaktionsweg       +       Bremsweg 
 
 
 
 
 
 
 
Reaktionsweg     =            Geschwindigkeit 
                                                   ___________________           X      3 
                                                        10 
 
 
 
 
 
 
 
Bremsweg           =            Geschwindigkeit           Geschwindigkeit 
                                       _________________  X  __________________ 

10 10 
 
 
 
 
Gefahrbremsung       =            Geschwindigkeit           Geschwindigkeit 
                                              _________________  X  __________________   :  2 

10 10 
 
 
 
 
 
 
 
 
 
  
 


